
DS45-430BL19

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

Measuring unit: mm

426-1026355

20
0-

40
0

200-800

67
3 

/ 7
35

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

TV desk stand

TV-bureaustandaard

TV-Tischständer

Support de bureau TV

Supporto da tavolo per TV

Soporte de mesa para TV

Suporte de mesa para TV

TV-bordstander 

NO 

SE 

FI 

PL 

CS 

SK 

RO 

TV-bordstativ 

TV-bordsstativ

TV-pöytäteline

Stojak pod TV

Stolní stojan na TV

Stolový stojan na TV

Stativ de birou pentru TV



PARTS

DS45-430BL19

Attach part I to the left foot (A) and part B to the right 
foot (J)
Bevestig deel I aan de linkervoet (A) en deel B aan de 
rechtervoet (J)
Befestigen Sie Teil I am linken Standfuß (A) und Teil B 
am rechten Standfuß (J)
Fixer la partie I au pied gauche (A) et la partie B au pied 
droit (J)
Fissare la parte I al piede sinistro (A) e la parte B al piede 
destro (J)
Fije la parte I al pie izquierdo (A) y la parte B al pie derecho (J)
Fixar a parte I ao pé esquerdo (A) e a parte B ao pé direito (J)
Przymocuj część I do lewej stopy (A), a część B do prawej 
stopy (J)

EN

NL

DE

FR

IT

ES
PT
PL

M-A. M6x14
(x4)

K. M6
(x8)

M-B. M8x16
(x4)

A. (x1) B. (x1) C. (x1)

Tool

STEP 1

200x200 -
800x400 mm

0-40 kg

Attach part E to the left support leg and part F to the right 
support leg
Bevestig deel E aan de linker steunvoet en deel F aan de 
rechter steunvoet
Befestigen Sie Teil E am linken Standfuß und Teil F am 
rechten Standfuß
Fixer la partie E à la jambe de support gauche et la partie 
F à la jambe de support droite
Fissare la parte E alla gamba di supporto sinistra e la 
parte F alla gamba di supporto destra
Fije la pieza E a la pata de apoyo izquierda y la pieza F a 
la pata de apoyo derecha
Fixar a peça E ao pé de apoio esquerdo e a peça F ao pé 
de apoio direito
Przymocuj część E do lewej nogi podpierającej, a część 
F do prawej nogi podpierającej

EN

NL

DE

FR

IT

ES

PT

PL

STEP 2

67,3-73,5 cm

M-C. M6x30
(x4)

M-D. M8x35
(x4)

M-E. D8
(x4)

M-F. (x4) M-G. (x4)

L. M6x10
(x8)

M. 4mm
(x1)

N. 10mm
(x1)

D. (x1) E. (x1)

F. (x1) G. (x1) H. (x1) I. (x1) J. (x1)

I

A

M

L

L

E

N

K



Attach parts C and G to the left support leg and parts D 
and H to the right support leg
Bevestig de delen C en G aan de linker steunvoet en de 
delen D en H aan de rechter steunvoet
Befestigen Sie die Teile C und G am linken Standfuß und 
die Teile D und H am rechten Standfuß
Fixer les pièces C et G à la jambe de support gauche et 
les pièces D et H à la jambe de support droite
Fissare le parti C e G alla gamba di supporto sinistra e le 
parti D e H alla gamba di supporto destra
Fije las piezas C y G a la pata de apoyo izquierda y las 
piezas D y H a la pata de apoyo derecha
Fixar as peças C e G no pé de apoio esquerdo e as peças 
D e H no pé de apoio direito
Przymocuj części C i G do lewej podpory, a części D i H 
do prawej podpory 

EN

NL

DE

FR

IT

ES

PT

PL

Install the brackets to the screen and use spacers if 
necessary
Installeer de beugels op het scherm en gebruik zo nodig 
afstandhouders
Befestigen Sie die Halterungen an dem Bildschirm und 
verwenden Sie Distanzscheiben, wenn nötig
Installer les supports sur l'écran et utiliser des entretoises 
si nécessaire
Installare le staffe sullo schermo e utilizzare i distanziatori, 
se necessario
Instale los soportes en la pantalla y utilice separadores si 
es necesario
Instale os suportes no ecrã e utilize espaçadores, se 
necessário
Zamontuj wsporniki do ekranu i w razie potrzeby użyj ele-         
mentów dystansowych

EN

NL

DE

FR

IT

ES

PT

PL

STEP 4

STEP 3

C

K

G

* Not Included

M-A M-B M-C M-D

M-E
M-E

M-F

M-F



24.08


